

Additional Funding Request

MD002	CSS# 24725 WO# 12915 Asset# NA								
Description of Repairs	Labor and materials to repair damaged signs.								
Diagnosis: Initial Work Order	Repair speed signage along main entrance drive, repair HC sign bldg 0314								
Diagnostic Fee	\$ 160 Labor \$80/hr x 2								
Additional Labor Cost to Perform Repairs	\$ 320 Labor \$80/hr x 4								
Additional Material Cost to Perform Repairs	\$ 54.60 <table border="1" style="width: 100%; border-collapse: collapse;"> <tr> <td style="width: 50%;">TAPCO Sign Mounting Hardware</td> <td style="width: 10%;">2</td> <td style="width: 10%;">3.36</td> <td style="width: 10%;">6.72</td> </tr> <tr> <td>TAPCO Sign Post</td> <td>2</td> <td>23.94</td> <td>47.88</td> </tr> </table>	TAPCO Sign Mounting Hardware	2	3.36	6.72	TAPCO Sign Post	2	23.94	47.88
TAPCO Sign Mounting Hardware	2	3.36	6.72						
TAPCO Sign Post	2	23.94	47.88						
Total Cost of Repair	\$ 534.60								



WORK ESTIMATE

CSS #:

Work Order #:

Emergency

Urgent

Routine

Company Name:	Tidewater, Inc.		Facility ID:	MD002
Contractor POC:	Adam Cology			
Telephone No:	740-819-6207		Building/Location; (e.g., Classroom/Room #)	
E-Mail Address:	adam.cology@tideh2o.net			
Assigned Technician(s):	John Brown			

DESCRIPTION of WORK and EXPLANATION for REPAIRS or REPLACEMENT

Labor and materials to repair damaged signs.

LABOR/MATERIAL		MATERIAL/S UB UNIT DOLLAR AMOUNT	LBR/HR \$80	LINE ITEM TOTAL DOLLAR AMOUNT
ITEM	QUANTITY			
Diagnostic			2	\$160.00
TAPCO Sign Mounting Hardware	2	\$3.36		\$6.72
TAPCO Sign Post, U-Channel, 8 ft x 2 1/4 in x 7/8 in	2	\$23.94		\$47.88
Labor			4	\$320.00
SUB-TOTAL COSTS:		Materials Total	\$54.60	Labor \$480.00
		TOTAL		\$534.60

All discrepancies, repairs and deficiencies associated with this work order were completed according to the Description of Work Explanation for

Cart

Submit Order

Charges may apply.

Remove

TAPCO

**Sign Mounting Hardware,
Mounts To Fence, Sign
Post****Item # 3YVU9**

Qty

2

Your Price

\$2.67 / pkg. of 2**Total \$5.34**

Availability

Expected to arrive **Wed. Jan 13.****Remove****Delivery Method****Shipping**

Home



Cart



Account



Branches



More

Cart

Submit Order

PO Number

Optional

My Products Reference...nformation 

TAPCO

Sign Post, U-Channel, 8
ft x 2 1/4 in x 7/8 in, Sign
Post lb./ft. 1.12 lb/ft

Item # 39F187

Qty

2

Your Price

\$19.00 / eachTotal **\$38.00**

Availability

Expected to arrive **Wed. Jan 13**. This item requires special shipping, additional charges may apply.

Remove

TAPCO



Home



Cart



Account



Branches



More

0314





